" | VAID’S ICS
LUCKNOW

LUCIEIEDW
“TAS/PCS/PCS - UPSC(PRE)-2024
MOCK TEST-8
TEST BOOKLET SERIES
W— GENERAL STUDIES-I
208 (Full Length Test)
Time Allowed : 2:00 Hours Total Marks : 200
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC., IF SO, GET IT REPLACED BY ACOMPLETE TEST BOOKLET.

2. ENCODECLEARLY THETEST BOOKLET SERIES CODEA, B, CORDAS THE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE ANSWER SHEET.

3. You have to enter your Roll Number on the Test Booklet in the Box
provided alongside this line. DO NOT write anything else on the
Test Booklet.

4. This Test Booklet contains 100 items {questions). Each question is printed both in Hindl and English. Each
item comprises four respenses (answers). You will selected the respose which you want to mark on the
Answer Sheetl. In case you feel that there is more than one correct regponse, mark the response which you
consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in the
Answer Sheet.

8. All items carmry equal marks.

7. Before you proceed to mark in the Answer Sheet the response to various iterns in the Test Booklet, you have
tofillin some particulars in the Answer Sheet as per instructions sent to you with your admission certificate.

8. After you have completed filling in all your responses on the Answer Sheet and examination has concluded,
you should hand over to the Invigilator only the Answer Sheet. You are permitted to take away with you the
Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE OBJECTIVE

TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, ONE-THIRD of the marks assigned to that question will be
deducted as penalty.

(i} Ifacandidate gives more than one answer, it will be freated as a wrong answer even if one of the given
answers happens to be cormrect and there will be same penalty as above to that question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU AREASKED TODO SO

QIinko X f o



How many of the following statements

correct

orientalist Max Muller?

1. He came to India in the late 18th
century as a member of the Indian
Civil Service.

is/are regarding the great

2. Max Muller has greatly praised the
immutable sublimity of the eternal
Indian village communities.

3. Max Muller established that India is a
country of philosophers who think
spiritually very little
connection with their material life.

and have

a) Only one
b) Only two
c) All

(
(
(
(d) None

How many of the following statements
is/are correct with reference to ancient
India?

1. Hundreds of verses from Manusmriti
and Mahabharata are similar toeach
other.

2. 'Swapnavasavadatta' is“a. poetic' work
of great poet Bhasa in which-there is a
fascinating description of the love
affair of Vatsaraja Udayan.

3. Kanishka's “contemporary Ashvaghosha's
work 'Soundarananda' is one of the
early plays, in which there is a heart-
touching “ description of Buddha's
brother's entry into the Sangha.

(a) Only one

(b) Only two

(c) All

(d) None

How many statements is/are correct

regarding 'Avatarism'?

1. First of all, the theory of incarnation
has been formulated in Gita and the
theory of Bodhisattva propounded by

AL R e b ko R T o

Rarferera ® & fraa waw agt /27
1. I AT ATH-TAT o qaT & «T |
18T oraTeat  Fd H AT AT

2. HFHAT F |AEH GRAET TH-
Tl AT AOaadid IETarn,

-9 e i B

3. e F TMIM AT & wra

AreATiones =T Fed, ATl ST o9
AT SHad o Tgd af 7 gae T@d
Tl TR 1397 2
(a) FaTH
(b) e &
(c) o<kt
(d) g o T2t
W 9IRa & dad § Aol § 9
TR o agr 2/87?
1. A oY #g¥Rd & Sl U%
TH-gEY § [ed A gl
2. 'EAVATHAEAlT HETRd ATH #Hif TF

FTA-FIA g SHH TS IqT il
ST FT FRaETE auie 2|

3. FASH F THEHTCNT AT 6T Fid
HiraaHe TRIE ATedl § 9 T,
SEH g3 & 91 & 99 Y399 @'
FEAITET AU 2

FAAATE F HaW § fhad Fud 98t

e/2?

1. Tayaw AT § sraarars  Rrgrd
&1 oot BT s § s |tar g
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Buddhists has confirmed it.

2. Vaishnavism recognized
incarnationism and affirmed the ten
incarnations of Vishnu, whereas
Shaivites rejected the doctrine of
incarnationism.

3. The theory of incarnation was a
natural outcome of the feudal society
structure emerging during the Gupta
period.

(a) Only one

(b) Only two

(c) All

(d) None

4-  Which of the following pairs is not
correctly matched?

(a) Jaimini Sutra : A treatise of
Mimamsa
Darshan
(b) Nyaya Darshan : Based on logic
& Gyan
Mimamsa
(c) Vaisheshika : Supplement to
Darshan Sankhya
Darshan
(d) Vedanta . Uttar-Mimamsa
Darshan

5-  Consider the following statements:

1. All the Mughal emperors used the
word 'Muhammad' in their full royal
name.

2. The title 'Padshah Ghazi' was used by
all the Mughal emperors from Babar
till the end (except Rafi-Uddarjat).

3. ‘Anga’ and ‘Koka’ were Turkish titles
indicating relationship.

4. Akbar assumed the title of
'‘Shahenshah-e-Zaman'  after the
proclamation of 'Mahjar' in 1579.

How many of the above statements is/are

correct?

(a) Only one

yfaarfea sfacas & frgra 7 =@
Tz R

2. IS A 7 AAATLATE I AFAT &F
3T oo % 29 srEart & 2
STafe 4t 7 sraaraTs & fgre ar
g

3. Faarars & f¥gwa [Ewer "

VYA gU ATHAT GHIS 6 @fd &

TATATIe T 9T

a) Fad TF

b)%h—(ﬁra‘r

) &

d)qﬁ’%‘*ﬁﬂff

Aot § & F9-97 T[/H def garoq

T 2?

(@) ST I : HHTET-3ee w7 IR

(b) =TI Teh ST AA-HHTET

I AT

(c) eIt ;AT AT O
T

(d) aEi@zed @ IT-HEET

(
(
(c
(

et woet o o= fifsm:

1. SO9 FFQU QTEr ATH & T gl
WA THIEl § qgFHE 9068 HT AN
BRI

2. 'TEeTg TSI 98 & AN qEL §
AL A=A TH AT {IAA qHTE F AT
(THT-SELSITT T FTEah?)|

3. ST ST CFHET HAT-FAE Tl
3Tt o)

4. FFIT T 1579 § "HESIL T AT
TS ETE-U-STHTA T IUTTEr &To7
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(b) Only two
(c) Only three
(d) All

In the early medieval period, Dantpur,
Shwetak, Jayantyapur and Jajnagar were
the headquarters of which of the
following dynasties?

(a) Eastern Chalukyas

(b) Western Chalukyas

(c) Eastern Gangas

(d) Western Gangas

Which of the following pairs is correctly
matched?

Medieval War Veteran
Warfare
(a) Haldighati : Mulla Abdul
Qadir Badayuni
(b) Kalinjar : Jayata and
Kumpa
(c) Khanua : Sultan Mahmud
Lodi
(d) Dadra :- Medini Rai

How many of the following statements

is/are correct?

1. The English
mathematician Isaac Newton was a

physicist and

contemporary of the Mughal emperor
Aurangzeb.

2./ Isaac Newton is known for his
discoveries in optics (white light
structure) and mathematics (calculus).

3. Isaac Newton was a member of the
Parliament of England twice from the
Labor Party.

(a) Only one

(b) Only two

(c) All

i
SUAE § F o Foe wgt 8/87
(a) FFT ThH

(OEEEE
CEEEIG]
(d) Ty
Td eI A H T, Adh, ST
TAT ATV fAaferiad § | o Teraer
& AT o ?
(a) T =TT
(b) wferet =regera
(c) Tt 3T
(d) TR
Aot & o F9-97 T g8t garoq
22

HEAFA T8 T8 W WO A 1T

e
(a) EedTHET qeT g
FIRT FaIAT
(b) =fereT STHAT 3T FFT
(c) @rgem TodTT A<
AT

(d) aTaT : gledt T
Referfera § & fraa wa a8t /27

1. oS wifds @ efie avEe
Aeoh e A GHIE AET *
HAFTATT |

2. SES® A THRMANT (AT THTT
HLHAT) 3T IO (FeAgere) & Tt
grsti o forT S ST g

3. A& e &L Tl | qA dqW
SIS il HHS % gae T g

(a) FaeT TF

(b) et 2T
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10-

11-

(d) None of these

Which of the following statements is not

correct regarding Rashtriya Swayamsevak

Sangh (RSS)?

(a) RSS was founded in Nagpur on the
day of Vijayadashami in 1925.

(b) Guru Golwalkar was the founder of
Rashtriya Swayamsevak Sangh.

(c) Bala Saheb Deoras became Sir
Sanghchalak after Guru Golwalkar.

(d) In 1938, Guru Golwalkar's book "'We
and Our Nation is Defined'
published.

‘was

Which of the following pairs is not
correctly matched?

Indian Scientists Related Fields
(a) P.N. Bose Geology
(b) Shanti Swarup Chemistry
Bhatnagar
(c) Birbal Sahni Palaeobotany
(d) D.N. Wadia Physies

On July 10, 1944, Rajagopalachari (C.R.)

formula was published to solve the

communal problem of the country.

Which of the following provisions was

nota part of it?

(a) Muslim League should support the
demand for Indian independence.

(b) After the war, a commission should
determine the areas in north-western

India
Muslims are in clear majority.

(c) A referendum in that area should
decide whether they want to separate
from India or not.

(d) In the event of partition of the
country, there will be no agreement

and north-eastern where

10-

11-

(c) Tsfy

(d) =7 F TS o 7H

TE TEaa® 9 (RSS) & #ay H

fAforfea ® & w9-97 F99 981 781 87

(a) RSS T €T 1925 # Frsrrasr
* & arTE # iy )

(b) = MAGAHT TSI TqTaah, do5
TEATTH o

(c) ATAT HTgd aH, T WATART
1T T HATAE A |

(d) 1938 ® ¥ MaaaT i [Eas &l
div gaw Jemges RwreEe wwfoa
EL

Aot & o F9-97 T el garoq

Tl 27

CIRGIRICE T O e C R

(a) dT. UA. TE CUEREEICH
(b) @ity T=a=T T s
HEATT
(c) e arg+t NRIEEEIT]
EEIG]
(d) A arlRar s e
10 S[ATE, 1944 =T 3T H ATFIRIET
THEAT & GAAT 6 (70 TSITAT= TS

(¥fF. X)) FT FHAT TR AT 11T

Faferea & o FI9 97 JTaem_T 96

e gt a?

(a) AT ST AT FAq=ar il 7T
FT AT T

(b) TF F THETA UH HHIT IA-TIRHT
TAT IT-TAT 9a § S &= &l
Raiia w¢ gl gaaHE T8 agad
7 gl

(c) 3T &7 H UH S°9a gNT Jg M
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12-

13-

on essential subjects - defence,

communication, traffic etc.

A conference was held in London on 3-6
December 1946 to resolve the bitterness
and

between the Muslim League

Who
following did not participate in it?
(a) Mahatma Gandhi

(b) Muhammad Ali Jinnah

(c) Lord Wavell

(d) Clement Attlee

Congress leaders. among the

How many of the following pairs is/are
correctly matched with reference to
places related to the life of Mahatma
Buddha?

1. Kapilvastu: Lord Buddha spent

his life here' as. a
prince.

2. Sankisa According to
Buddhist beliefs,
Lord Buddha
desecended here from
heaven.

3. Kaushambi Lord Buddha

preached here twice.
Lord Buddha took
Mahasamadhi here.

4. Kushinagar :

(@) Only one
(b) Only two
(c) Only three
(d) All

12-

13-

o STo fF A | g
i § s
(d)zor A &t Rafa § sraeas
oot e, g9, A et
% o0 FTE q9=ATaT A8l gl
AT T ST FOET qqret FoEE
FTdl g FLA & U 3-6 fawsas, 1946
F AGT § UF AT AT (R
T Feferfea § & frag sqw 9amr a8t
o am?
(a) WETcHT il
(b) HEHHT A1 v
OEISEEE!
(d) FermHz Uet
ARTCHT g3 & Siad o Hafad &= &
ey ¥ Aufefed & @ fras T3 98
qAa g /872

1. #FUeaeq : FE 9@ g5 o
TAEAT & &7 H
SIECREIE

2. wfear G r-S | o ko
ATE SRl T
T T F AFAT
g

3. FIomET T WEE g5 A
3T 91X 99T fam)

4, FAT Tl AT g5 A
HETHHATE AT

() et T

(b) Faer =T

OEEEEIE

(d) T+t
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14-

15-

16-

How many of the following statements

is/are  correct with

‘Biodiversity Credit’?

1. Biodiversity Credit is a financial
instrument designed to raise funds for
the conservation,

reference to

restoration and

sustainable use of biodiversity-rich

areas.

2. These work similarly to carbon
credits, but their use focuses
specifically on biodiversity

conservation rather than addressing
negative impacts.
3. The main objective of this credit is to

attract  private investment for
initiatives in line with the goals of
conservation and restoration of

biodiversity outlined by international
agreements such as the KMGBF under
the CBD.

(a) Only one

(b) Only two

(c) All

(d) None

How many of the following challenges
may arise due to internationalization of
Indian currency?

1. Increasein impott costs

2. Exchangerate volatility

3. Triffin paradox

(a) Only-one

(b) Only two

(c) All

(d) None

The duration of National Quantum
Mission is:

(a) 2023-24 to 2027-28

(b) 2023-24 to 2030-31

14-

15-

16-

(e oll

FEEEaEer  Hee k" H
ot Faat § @ fFad #9998t
e/8?

1. STEEEaEdr #wee U AT arg=
¢ o Se-REgaragg o=+
HEAOT, [AEATIA qAT Fqq STIN &
forT g7 Sem gq Restrea | s
2l

2. T FTEA FiSS 6 THA. el &1 Fd g,
fhq TRRTcHF TN &l g FA 6
TIE 9¥ IEHN. ITAN (oW &7 |
Star-farferedT dweqor a< wiead 2l

3. TM Hiec. & =T 3297 CBD ¥ dgq
KMGBF & iaeigia aaetial gl
Sfeateaa Sa-fafaear & dweqor qar
TAEATIT & @Al & Aed 98 &
forT AT fRerer &1 seRfua 4T 2

(a) FAT TF

(b) Faer =T

(c) THT

(d) T ot T2

ARG 3T & AqOgiaa o

Aot & & gt gt o asdt

287

1. TS ARG § 9i

2. BT 3T # sfeaear

3. fefthe AoremaT=

(a) e T

(b) Faer =T

(c) Tsfy

(d) g ot L

Uﬁﬂmﬁwaﬁmﬁgz

(a) 2023-24 & 2027-28

(b) 2023-24 & 2030-31
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17-

18-

(c) 2023-24 to 2033-34
(d) None of these

How many statements is/are correct

regarding LCD and LED?

1. LCD primarily uses fluorescent lights,
while LEDs uses light-emitting
diodes.

2. LCD is thicker and exhibit lower
energy efficiency compared to LED.

3. The viewing angle of LCD is wider
than that of LED.

a) Only one

b) Only two

c) All

(
(
(
(d) None

is/are correct
Traffic

How many statements
regarding  the Immoral
(Prevention) Act, 19567

1. The Act defines a brothel as-a place
used for sexual exploitation or.abuse
for the benefit of another person or
for the mutual benefit of two or more
prostitutes.

2. The purpose of this Act is to prevent
the evils of commercialization and
trafficking of women.

3. According to this Act, prostitution is
defined Jas the sexual exploitation or
abuse of women and children for
commercial purposes.

(a) Only one

(b) Only two

(c) All

(d) None

17-

18-

(c) 2023-24 ¥ 2033-34

(d) =8 T FTE TLT

LCD =¥ LED # ®=«f # foha« o ¥t

e/2?

1. LCD H&7 &9 & WARHe AT AT
TIRT XA 8, Safh LED (WeRTer
IS STATE T ITANT Fd gl

2. LED #t g1 § LCD afaes @y
AT & 3T ®W Sl <&rdr Jeidd
AT Bl

3. LCD T =& Gret LED T qarT &
ZTIF graT 2l

a) ¥4 Uk

b) Fa« T

c) T«

d) F1E o T

sfdw g@Emr  (Faw)  staEEs,

1956 & HFawg ¥ foha FHa= Tal o/e?

1. 98 AfS=aw JeaeT w1 AT o7
FAFF AT F T IT I AT T H
qfw FATA F IEINEF ATH &
ferut-orroror 21 FHEET &g ST
FT ST ATAT SRTE F T H qieAToT
FLAT 2l

2. =9 ATIHIR FT IZeT AT &
FTAATHTHRLOT ST AIGATAN T TER
& AT 2

3. =TH ATAHIw F Aqaw, J9AGT &
FATFATAF 329dqT & forw wigarst
AT agl & FA-eUe AT TEITRTH
&7 § AT R 13T g

(a) FT ThH

OEEEE

(c) Tsfy

(
(
(
(
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19-

20-

21-

22-

Which statement is correct regarding

Gangasagar Fair?

(a) This fair is an annual pilgrimage fair
held in Rajasthan.

(b) This fair has recently been declared a
national fair by the Government of
India.

(c) It is the second largest fair of India
after Kumbh Mela.

(d) This fair is also famous as livestock
fair.

Which of the following languages is not
included in the 8th Schedule of the
Indian Constitution?

(a) Gujarati

(b) Rajasthani
(c) Urdu

(d) Kashmiri

is/are correct

regarding Madan Mohan Malaviya?

1. He is remembered for his role.in
ending the practice of ‘indentured
labour’.

2. Gandhiji had given him /the title of
'Karmayogi' and 'Mahamana'.

How many statements

3. He was the founder of 'Abhyudaya’,
'Maryada', 'Leader' newspapers.

(a) Only one

(b) Only two

(c) All

(d) None

How many of the following pairs is/are
correctly matched?

Provisions of the Country from
Indian Constitution were adopted
1. Consultative Canada

(d) =T T 7T
19- s 8 & g | RiA-AT BT gor
g?
(a) TE HAT TTEATET § A ATAT AT(HH
AT 7T B
(b) TH AT FT AL TLHIT 1 BTA oL H
REIRE IR GRET I
(C) T FTH Tl o ATE AT HT AT g9
FETHAT B
(d) T2 HAT T HA F =T § off g
2l
20- frefofegg & #w-HAT 9T G
HfagTT 1881 LA | T Fgl & ?
(@) TSt
(b) TrSTET
() 3%
(d) FehiLr
21-  geEAHEd "I F qed § Ghaw wue
w87
1. 3 RfAfeaT oy woIm & 9979

FT H AT i F forg e
ST Bl

2. TR 'HHAR TAT HGHAT 6T IUTler
T ST & o

3. ¥ AW, WAL, AT A@AT &
JTFAFAT |

(a) T T

(b) FaeT &Y

(c) &+t

(d) 1< <t 72T

22-  fawfafeas & ¥ fraq 9 adr qafom

2IR?

TRAT EfRgmE <o oed g
EIELIE] g
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Adjudication of
the Supreme Court
2. procedure : UK
established by law
3. Prerogative Article : USA
a) Only one
b) Only two

23- How many statements is/are correct
regarding the Union Territories of India?
1. Union territories have a federal

relationship with the Centre.

2. There is no wuniformity in the
administrative system of different
union territories.

3. No Union Territory has the power to
make laws on any subject in the State
List.

(a) Only one

(b) Only two

(c) All

(d) None of these

24- How many of the following pairs is/are
correctly matched?

Case Set Framework
1. S.R.Bommai vs. :  Secularism
Union of India
(1994)
2. L.Chandrakumar : Judicial
vs. Union of India Review
(1997)
3. Indira Gandhivs. : Jurisdiction
Raj Narayan of the
(1975) Supreme

Court
(a) Only one
(b) Only two
(c) All

23-

24-

1. |AIg AT FT ;. FATST
EREEIRDIICE D
2. FEfygmmenta @ =
BIERI

3. UTHTIHR o9 ;AT

(a) e UF

(b) < &

(c) Tsfy

(d) g ot T

T F 9 ToF-e Foaay ° Fhaw

FAT Rl afe?

1. %% &% AT TH-TST &A1 FT THATHE
Heer g

2. Tty o9 wex &7 fr goafEE
FEEAT § THETdl 951 2l

8. et off &9 o7 & T UST qHAT &
et fow 9% F aae # afe
Tl 21

a) Fad TF

YEEEEU

c) T«

d) =T | IS TET

Fafafaa & o fag 7 98 qafa

2IE?

(
(
(
(

HTHAT (ATR) Faifa
ST AT

1. TH. L. qES L]
FATH AT 69 fAoetar
(1994)

2. TUA. TEEHR ;AT
FATH AT 99 RGIECIET]
(1997)

3. EfRwrwtdtasma : #Halg
IR T
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25-

26-

(d) None of these

How many statements is/are correct

regarding the present administrative
structure of Delhi?
1. Under the 91st Constitutional

Amendment, the maximum number
of Council of Ministers in Delhi is
15% of the total members of the
House.

2. All ministers of Delhi hold office
during the pleasure of the Lieutenant
Governor.

3. There is no reservation for Scheduled
Tribes in Delhi Assembly.

(a) Only one

(b) Only two

(c) All

(d) None of these

How many of the following statements
is/are correct regarding the process of
impeachment of the President?

1. The charge on thePresident to
'transgress the Constitution' should be
in the form of a motion proposed after
at least 14 days' prior notice.

2. This resolution should be proposed
with the signatures of at least 1/4
members of the House.

3. If this resolution is passed separately
by both Houses of Parliament by at
least 2/3rd members present and
voting, the President will step down
from his post.

a) Only one

b) Only two

c) All

d) None of these

A~ o~ o~ A~

25-

26-

(1975) £a)
EIBEaIEG

(a) FFT ThH

(b) < &

(c) T«

(d) =TH | FIE LT

faeet & FaaTT TaTHES e & qae |

TR o a8t 2/87?

1. 915 GTLTH e & STravid faoatt
H HEOfeug qEe 1 S Ateshay qear
e & FF g2l H1 15% 3|

2. Taoett & AT W ITSIIE &
TETE-TA T T &0 FZd &l

3. faeett  fRgmmar & sgita
ST o forT sireeror /2 2

(@) FereT TF

OEEEE

(c) T«

(d) =78 & FrE L

P 9% ATTHANT 6T THRaT & %9 |

Aeforfaa ® & fora %= 981 2/87

1. TPAfd 9 H{AGT F GEHRAT FT
AT UF I&qTd 6 &9 H AT AT T
ST T F w9 14 &40 & 9@ =391 %
T TEqTEd Bl

2. 98 HFed Had k wH H FH 1/4

FIET & AT T SEariad gl

3. I HHed HAS & IMAT TGl FI
SUfeAq &f¥ #q I a1l FH T
2/3 FEEAT GILT AT-ITAT ITd giet
I T A9 98 F g& AT

(a) FT ThH

OEEEE

(c) Tsfy
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27-

28-

29-

How many of the following statements

is/are  correct regarding the writ

jurisdiction of the Supreme and High

Courts?

1. The Supreme Court can issue writs
only for the

fundamental rights, whereas the High

enforcement of

Court can issue writs for general legal
rights in addition to fundamental
rights.

2. The Supreme Court cannot deny writ
jurisdiction, whereas the High Courts
can deny

3. The Supreme Court has the power to
issue writs against any person or
government.

a) Only one

b) Only two

c) All

d) None of these

A~ A~ o~ A~

Which statement is not correct regarding

no-confidence motion?

(a) No-confidence motion is presented
only in the Lok Sabha.

(b) No-confidence  motion is not
mentioned in the Constitution.

(c) Mrs. Indira Gandhi has faced no-
confidence motion the maximum
number of times.

(d) The first no-confidence motion in the
parliamentary history of India was
brought by Jai Prakash Narayan in
1963 against the government of
Jawaharlal Nehru.

Which statement is not correct regarding

Dr. B. R. Ambedkar?

(a) Ambedkar was the first Indian to
obtain a

Doctorate degree in

27-

28-

29-

(d) =TH | FTE ALY

G rE- B 1 - S ) 1 B O B E

aferapTiear & #e9 # Fufated & F

e oI |gt 8/27

1. 9alg AT Fad g ATTFRE 6
e % oo stefs 3g =
A AT & Srerar arare, fafams

sttt o form off e oI & 9o
£l

2. HaTg ATATAT I ~I &4 Hl TR
TEl T, \Tafh Ig ~ATATAT THT
GETHE]

3. Harg = R off sfte oA
LRI & Aa%g e ST e 7 orf<h
TG gl

a) T UF

SEEEE

c) T«

d) T | IS THT

AT TEATT o HIT H HF 97 FHAA

SRR E

(a) AT JEqTd FaA AHAAT H
e AT SITaT

(b) AT JEqTa FT Iooid AAd o
Tl 2

(c) #frmft Ry welt F waifasw ™
AT T&qTT T FTHAT FRAT 2

(d) 9¥d F HE4T Tfag™ H ggel
At yEaTd 1963 H SaTg A1
EE Hl AR & [Gwg T TR

(
(
(
(

AT T AT T AT

Tr. dT. T, e sY & Eq § FiA-a7

FIT Tel A5l 27
(a) AFaEHT AT AT | T
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30-

31-

32-

economics from abroad.

(b) The Reserve Bank of India (RBI) was
based on Ambedkar's ideas which he
presented to the Hilton Young
Commission.

(c) In 1954 he founded the Indian
Buddhist Mahasabha.

(d) He had opposed Gandhiji's Salt
Satyagraha.

How many of the following biosphere
reserves in India are recognized by
UNESCO on the global network?

1. Achanakmar, Amarkantak

2. Panchmarhi

3. Agastyamalai

4. Great Nicobar

(a) Only one

(b) Only two

(c) Only three

(d) All

Which of the following is not included in
social forestry?

(a) Urban Forestry

(b) Rural Forestry

(c) Desert Forestry

(d) Form Forestry

Which of the following factors is not

essential for the growth of mangrove

vegetation?

(a) Tidal creek

(b) Salt marsh

(c) Punk arena

(d) Average annual rainfall of 200 cm or
more

30-

31-

32-

#T =Rt o ATl Tgef AT 2

Red dF  (SedreTs)
ATFISH o TAAT T AT AT S0
Srgi fgeed 3 ST &1 Yoqa AT
T

(c) 1954 ® 3egid AT dtg GETEHT
T AT

(d) Tegid WIS % AHE T AWg HT
farer o o)

aa # el 7 8 fhad stased

= & e g dfas deds W

HTAT I8 82

(b) wTA=

1. FATHRAE, AT

2. =g

3. IEAHATS

4. Y e

() Fa TF

(b) & T

OEEEKI]

(d) Ty

eforfaa & & g g araar |

SITIT Rl oh AT STTaT 872

(a) arg<r AT

(b) TTHTOT FATHRT

(C) AEEIAT AT

(d) I aTfeehT

qUE Faeataal & fFEm & o

Fafafag § & ®9-97 F3F EeT®

TEE?

(a) AT HFLT @IS

VEELIREEES

(c) U= HaTH

(d) 200 HEHTET AT IAY ATAF FT T
TS o7
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33-

34-

35-

36-

At which of the following places in
Peninsular India, mountain forests are
not found in-

(a) Western ghats

(b) Eastern ghats

(c) Nilgiri mountain range

(d) Vindhyachal mountain range

How many of the following rivers are
tributaries of Brahmaputra River?

1. Kameng

2. Subanasiri

3. Lohit

4. Dibang

a) Only one

) Only two

c) All

(
(b
(
(d) None

How many statements is/are correct

regarding peninsular rivers?

1. Peninsular rivers follow definite
courses.

2. These rivers neither form meanders
nor are perennial.

3. These rivers form deltas at their
mouths.

4. The drainage basins of peninsular
rivers are relatively large.

a) Only one

) Only two
c) Only three

(
(b
(
(d) All

The Garo, Khasi and Jaintia hills are part
of the Meghalaya Plateau. On which of
the following basis has Meghalaya
Plateau been divided into the above

mentioned three parts?

33-

34-

35-

36-

T aa F FAeferfaa G s

U TS A Agl qT0 ST 272

(a) TterdY a1 &

(b) THT =z &

(c) AR Taq JaaT #

(d) FEeam=er gaa @ &

Faferfea & & frasr afeat sgrera<y

#T TETIF AT 872

1. HTET

2. gEATEL

3. @fed

4. fEm

a) ¥4 Uk

NEEEE

c) T«

d) 1< ot T2

g qfet F ey § Graw wue

SEUEEE

1. yEgdT Tt gEfea /e &+
ATHLT AT B

2. 7 Ffeat 7 v et & [t =t g
AT T B AHTHT 2l

3. ¥ afeat sraw geT™ a¥ Soer & At
FLAT 2l

4. gragrdy FfeAt T osraarg Frerat
AUATHT F=T gial gl

(
(
(c
(

T i fgeET g1 Mefoiea e sreme
T HATAT I3 &l I9Ah i AR H
FTeT AT 82
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37-

38-

39-

a) Plants

b) Topographic variation
¢) Smount of rainfall

d) None of these

A~ o~~~

Which of the following words is not
mentioned in the Preamble of the Indian
Constitution?

(a) Worship

(b) Opportunity

(c) Conscience

(d) Faith

How many of the following statements
is/are correct regarding the Deputy
Speaker of the Lok Sabha?

1. The Deputy

subordinate to the

Speaker is  not

Speaker, his
responsibility is not towards the
Speaker but towards the Lok Sabha.

2. If the Deputy Speaker of the Lok
Sabha is made a member of any
parliamentary committee, he
automatically becomes the chairman
of the committee.

3. In the Business Advisory Committee,
Rules
Purpose Committee, the Deputy
Speaker of the Lok Sabha himself acts
as the Chairman.

(a) Only one

(b) Only two

(c) All

(d) None

Committee and  General

How many of the following statements

is/are correct?

1. Arunachal Pradesh does not share its
border with the state of Manipur.

2. Arunachal Pradesh does not share its
border with the state of Sikkim.

3. Assam does not share its border with
the state of Mizoram.

4. Assam, Meghalaya, Sikkim and

38-

39-

a) Faeataat

b) TR =T

DELIEIRIEN

d) T8 T FIs TE

ot & ¥ F9-97 e AT

Tt i sgfevT ¥ afora wgi 272

(a) 39TgAT

(b) srFET

(c) srea:=Tur

(d) fersame

AE AT F IGTLAT F Hg=H

Rerferfer ® & fha waw a8t /27

1. IUTER, A=A FT ANTET TE 2,
SUHRT SALET AT TeqeT F U gl
e o T97 F T )

2] AT F IUTAA FI ;G AT
AT TS FT TG IHET ATaT §
ar 9 Taa: gf afafd #7 srewer a7
ST 2

3. & wAu wfufy, fFaw afafy six
ATATT SS9 JAa ® AT
SUTEAET T TeAeT il AT § grar
2l

a) T UF

SEEEE

c) IHT

d) rE o T

Faferfea & & fraa wa= ot 21872

1. FEOTAA Y9, AT TST F AT
ST EHTHT FTAT A48T LTl

2. FETAA T, MiHA T F AT
AT AT FTAT AT FHeaT|

3. I\H, S 15T & 97 AIA71 {HT

ATAT FT A5l HLATl

(
(
(
(

(
(
(
(
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40-

41-

Arunachal Pradesh share borders with
Bhutan.

(a) Only one

(b) Only two

(c) Only three

(d) All

How many of the following pairs is/are
correctly matched?

1. The first Indian to Satyendra
join the Indian Civil Nath Bose
Service.

2.  The first Indian to Dr. S.
receive Bharat Ratna Radhakris-

hnan

3. The first Indian to Sumitra
receive the Jnanpith Nandan
Award Pant

a) Only one

c) Only three

(
(b) Only two
(
(d) All

Consider the names of the following all-
time cricket players:

Hanif Muhammad

Inzamam-ul-Haq

Mahela Jayawardene

Younis Khan

Hasim"Amla

Karun Nair

Arjun Ranatunga

Graham Gooch

How many of the above players have
scored a triple century in Test cricket?

(a) Only five

PN W=

(b) Only six
(c) Only seven
(d) All

40-

41-

4. g9, wuaTa, OfEw s seum=e

TROT ST o |1 HHT |TAT i g
(@) FereT TF
(OEEEE
OEEEKIG]
(d) Ty
Aot 5 fha 0 a8t gl a/e?
1. wATCa EEe A AT

AT | e g T

ATl gl g

2. 9T T@ITHFLA © S UA.
AT dgel AT LTI

3. ( AT e qie=T
TTH T a1 Tead °q
T AT

(a) et T

(b) T &

(c) et

(d) =+t

FRaferfea adwrfos e Raefzan &

. BATE AT

©® N O oA e N s

- UTEH T
ST § T feerfeai & 2w frhe &

TAg<T 9T oRITaT 82
OEEERIE

(b) Fa :

(c) Faer AT
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42-

43-

44-

45-

How many Prime Ministers of India have
been there so far who, before becoming
the Prime Minister, also held the post of
Chief Minister of any state of India?

(a) Three

(b) Four
(c) Five
(d) Six

How many of the following pairs is/are
correctly matched?

Book Author

1. Seva Sadan Munshi Premchand
Jhootha Mannu Bhandari
Sach

3. Mahabhoj Rajendra Yadav

4. Aadhe Mohan Rakesh
Adhure

(a) Only one

(b) Only two

(c) Only three

(d) All

How many of the following pairs is/are
correctly matched?

Ramsar Site State
1. Anka Sea Bird Karnataka
Conservation Reserve
2. Adhanashini Estuary Karnataka
3. Magadi Kere Reserve Karnataka
4. Longwood Shela Karnataka

Reserve
(a) Only one
(b) Only-two
(c¢) Only three
(d) All

Consider the following rivers:
1. Makku

2. Tuivai

3. Sonai

42-

43-

44-

45-

(d) =rsfy

AT o Tohae TeTTHAT 3 T6 UH gU 5

ST TR a9+ | Tgol 918 & (el

ST % EAHAT % T8 I AT SATHIT o2

(a) 19

(b) =X

(c) T

(d) =:

FRarferera ® frae o0 w8t gafera 2/87?
NI ED SIeED

1.  ¥HamEeEd Hqeft H=E

2. Frada e AT

3. ( HETSS ECADIEC]

4. SH-ALLL HIgT TehaT

() ¥ TF

(b) Faer =T

(c) Fae I

(d) Ty

Fafofaa & & faa 78 93t gafad

el8?
THAL &[T sy

1. 37 T3z qEft Fee ELIEED
ESE)
STEATIAAT TEULT AT
HATET Y HTET FATEH

4. TS 9T fee AT
g9

(a) Fa TF

(b) Fae &

(c) Faer o

(d) Trsft

Aefertera afeat ¥ o= fifere:

1. 7%

2. [Ea%

B-36, Sector-C, Aliganj, Lucknow

Cont. Nos. 9415011892 / 8858209990

Page 16



46-

47-

4. Rukni

How many of the above mentioned
river(s) is/are tributaries of Barak River?
(a) Only one

(b) Only two

(c) Only three

(d) All

How many of the following statements

is/are correct?

1. Prader-Willi syndrome is a disease
characterized by insatiable appetite.

2. The that studies the
relationship between human genome,

science

human nutrition and health is called
‘nutrigenomics’.

3. Sodium chloride is a responsible
factor for high blood pressure.

(a) Only one

(b) Only two

(c) All

(d) None

How many of the following statements

is/are correct with reference to ‘Linseed’?

1. Almost 80% of the world's Linseed is
produced in India.

2. The silk obtained from Linseed stem
is known as ‘linen fibre’.

3. The largest source of omega-3 fatty
acids on earth is Linseed.

(a) Only one

(b) Only two

(c) All

(d) None

47-

3. HTE

4. =fF

ST § & fhadr Afeal I Jar @i

g ATl g/a?

(a) e UF

(b) Faer &1

CEEEIG]

(d) 7rsfy

Aaferfea & & fra waa a8 2/87?

1. =< =t fgm uF T g S
fafers = s 9@ 2l

2. T SO, AT IO T TaTesy
F A gl FT AAAT FLA ATAT
s st Fgamar g

3. 3g AT & o A aw FTse
T IR FHTF g

a) FIA TH

SEEEE

c) Tt

d) #7E +ft T

HAHT | Haw H Aufetaa e w99

SR

1. gt o &7 AT 80% ATt HT
IITEA 9T | AT SI7aT 8l

2. AAHT F qF F TTH L9H & o
FIEIY o ATH § AT 7T Bl

3. AT-3 HE UlEE FT gEt o a9
FET HT AT B

a) Fad TH

) FAA T

c) IHT

d) FrE ot e

(
(
(c
(

(
(b
(
(
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48-

49-

50-

How many of the following statements
correct with
‘Biosensor’?

is/are reference to

1. Itis a self-made integrated instrument
that provides specific quantitative or

semiquantitative analytical
information using a  biological
detection element.

2. Biosensor  converts  biochemical
information into mechanical
information.

3. Affinity biosensors use antibodies and

nucleic acids as biological
components.

4. Catalytic biosensors use enzymes and
microorganisms as biological
components.

(a) Only one

(b) Only two

(c) Only three

(

d) All

Which of the following statements is not

correct?

(a) The most important mineralized rock
system in India is Gondwana.

(b) Kalahandi mining area is famous for
bauxite.

(c) Sandstone is a layered rock because it
is formed under water.

(d) Remains of organisms and parts of
vegetation are found in sufficient
quantities in layered or sedimentary
rocks

Which of the following statements is not

correct?

(a) Juku Valley is located in Himachal
Pradesh.

(b) Siachen Glacier is situated north of
Leh and Nubra valleys.

(c) Murkha Valley is situated in Ladakh.

(d) Glaciers are large icebergs which keep

48-

49-

50-

FEEEY F e ¥ fAufafea & 9

TR o |gr 2/87?

1. I8 UF SEATHT Thihd STHLT g ST
TS ST TgaT_ qed F STTRT HTh
fafors  AmEmEE AT AFATETES
T oroTTeTeh SITRTET J&T9 F3qT 8l

2. AEEAT NG THEAE  TAAT AT
T FAAT § gfatad Hear gl

3. TR aEEE, 9F geE & w4 H
T TS s s e @
AT AT 2

4. I TIEEL, AT qSH 6w H
TSTZHqAT G&H SHEl &1 AR HLar
L

a) e UF

EEEE

c) AT A1+

d) T+t

fAeforfaa ® & wi9-97 F99 981 781 87

(a) MRT H HaH AgAa0 @isgh IUh
T AT gl

(b) FTATGIET AT & ATFATSE & [0
TfaE 2l

(C) TAT TeIT T TIARTL AT & FA(1h
TE qTAT o A= Il 2

(d) TRAR AT AGETET A=l § Siar &
FAAT T FAAEATAAT K ST TATH
HTAT | 970 S7d 21

fAforfaa o & wi9-97 w99 981 781 872

(a) & =TET FRAT= waor 7 foora

(b) FEraT= Ro=, @g T9T a7 =1l &
I H o Bl

(c) T@T =Tl 9=2T@ | *od g

(d) FRae a2-a2 Ruavst 1 #gd g o

(
(
(
(
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51.

52-

53-

sliding downwards due to their own
weight.

How many of the following ocean
currents is/are warm current(s)?

1. Falkland

2. Labrador

3. Canary

a) Only one

b) Only two

How many of the following statements
correct in the
environment and ecology?

is/are context of

1. Keystone species that exert influence
on community characteristics despite
low abundance and biomass in a
community.

2. Mangrove plants develop special
respiratory roots to exchange oxygen
and carbon dioxide, which is called
'red tide'.

3. Mangrove trees grow in the coasts,

tidal creeks, backwaters,

lagoons and mud deposits of tropical

estuaries,

and sub-tropical regions.
(a) Only one
(b) Only two
(c) All
(d) None

Which of the following gases is filled in
cigarette lighter?

(a) Methane

(b) Propane

(c) Butane

(d) None of these

51.

52-

53-

AU T A F RO A FT AT
e w2a 2

Rrerferera ggram ararst & # B

T 4re(d) 2127

1. HiFATS

2. FAARR

3. FAT

(a) FFT ThH

(b)%—ﬁra‘r

()=

d)aﬁ‘%%ﬁﬂ‘@

YT 3T aTRiRgfadr F oAl o

et 5.8 fraa waT a8t 8/27

1, F-'2 SSTtaat S T JET §
TEEAT T AW i Seudr &
ATASE ATHRTTAF STTHALAT T AT
ST FTAT &

2. U Ut H Ao, Fred ST
AFATES FT AETH-TEIT FA F T
9w sgae ST A g g,
59 = e FEd Bl

3. HUE I IO fead@ wa IAIOU
Ffeaeefir &= F T2, SAAsqEr
SATT i, TE9d, oOF U4 UF
STt # iR gar )

(a) FT ThH

(b) =<t 2T

(c) T«

d) #T< +ft T

firre @rger ® Rufefea & F #a-

T T ATAT 22

(a) 9=

(b) ST

(c) 47

B-36, Sector-C, Aliganj, Lucknow

Cont. Nos. 9415011892 / 8858209990

Page 19



54-

55-

56-

Which institute has been awarded the

Nelson Mandela Award for 2024 by the

World Health Organization (WHO) for

health promotion?

(a) All India Institute of Medical Sciences
(AIIMS)

(b) National Institute of Mental Health
and Neuro Sciences (NIMHANS)

(c) National Institute of Health

(d) Health and Family
Department

Welfare

Digital detox initiative is related to which
state?

(a) Karnataka

(b) Punjab

(c) Gujarat

(d) Kerala

Consider the following statements:

1. The Central Pollution Control Board
is a scientific organization, which was
formed in the year 1974 under the
Water (Prevention and  Control of
Pollution) Act 19714.

2. The Central Pollution Control Board
has also been entrusted with the
powers and functions under the Air
Pollution (Prevention and Control)
Act, 1981.

3. It functions as a regional formation
and also provides technical services to
the Ministry of Environment and
Forests and Climate Change under the
provisions of the Environment
(Protection) Act, 1986.

How many of the above statements is/are

correct?

(a) Only one

(b) Only two

(c) All

(d) None

54-

55-

56-

(d) T & 1L TEH

3 TeqTe 7 Taeey gadq & oo o

e TS (WHO) & 2024 % Soae

HSAT T 8 FFTHT 7T 872

(a) dfge AT AfEAE "
(AIIMS)

(b) e THAE TS < | dfEET
3T FeT (NIMHANS)

(c) TP TqTEST TEATA

(d) FaTEST UF TiETE Feror fadmr

Rea RZHa dga a7«

T fead g ?

(a) FATeH

(b) T~

(c) ot

(d) F7er

Raferfea Fouet o2 o= St

1. R guO {0 A1 uE A
5 B, TSEet T a9 1974 § S
(rguer fawor T HEE)
stterfa 19714 % @ga frar
oI

2. F T Tguur A A€ A Ay
yguor  fAaww, s faEE)
sfarfaa, 1981 & srefiw off arf=eart
S T |9 T 2

3. IAT T &T oA & T H FHF HAl
g i e ("wen) sfafaem,

1986  ITALTAT F dgd TATALI qAT

a9 UF SAary aiadd #Atad wl

qeRe Tt FaT0 T T AT gl
ST | | Tohae Fo a8t 2/27?
(a) FT ThH
(b) Faer =T
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57-

58-

59-

60-

Which of the following atmospheric
gases is not included in calculating the
Air Quality Index in cities in India?

(a) Carbon Monoxide

(b) Sulfur Dioxide

(c) Methane

(d) Nitrogen Dioxide

“The effort to achieve an objective
with  full
devotion and honesty is called non-

through peaceful means
violence.”

The above statement is from which of the
following great men?

(a) Mahatma Gandhi

(b) Lala Lajpat Rai

(c) Gopal Krishna Gokhale

(d) Dada Bhai Naoroji

How many of the following works were

edited by Lala Lajpat Rai:

1. Punjab National Bank established in
1894

2. Servants of People Society established
in 1921

3. Establishment of America's
Rule in 1917

4. Hindu Relief Movement established
in 1897

a) Only one

b) Only two

c) Only three

d) All

Home

(
(
(
(

Consider the following statements with
reference to the Election Commission of
India and its members:

1. The Election Commission of India is

an all India institution, as it 1is

57-

58-

59-

60-

(c) Tsfy

(d) T ot =T

AT § =20 | a1 Iorar gAwiE (Air
Quality Index) &1 R F24 & form
Raferfea amgavest d= & ¥ s
QITIT Rl oh 3T STTaT 872

(a) FTET HIATATFATES

(b) FTTHT TTS ATFETES
(c) W=
(

d) AT TS AT S

1 87 Tom e & Ay enfayet
AT ' 32T - FIA 6 TATT FT &F
AT Feag”

ST HA9 Mofated § ¥ & 7grgew
FE?

(@) TETAT T

(b) FTAT ATSIIT T

(C) AT FHTUT AT

(d) ETaT 97T A

oforfea & o frad #13 ATeT T
T G |qTiad o T

1. 1894 H USITa FA9A ook i TATIAT
2. 1921 # 9deq (% Nya dramEer it
TITIAT

1917 ¥ STHTERT T ZrAET il TATIAT
1897 # f@eg NfI qaHe it w1
() Fae TF

WEEEEL

(c) Faer i

(d) 7rsfy

qA & \ar=d IR A7 396 Gaedi

F ded ¥ Fulfea sa o B
[:

1. 9T & Fa=A e uE i

3
4
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61-

62-

common to both the Central and State
Governments.

2. The Chief Election Commissioner of
India is appointed by the President,
and holds office during the pleasure of
the President.

3. The Constitution prohibits Election
Commissioners from making other
appointments by the government
after retirement.

4. The qualifications (legal, educational,
administrative or judicial) of the
members of the Election Commission
are not prescribed in the Constitution.

How many of the above statements is/are

correct?

(a) Only one

(b) Only two

(c) Only three

(d) All

How many of the following pairs is/are
correctly matched?

Supercomputer Country
1. Frontier : America
2. Aurora : America
3. Eagle : America
4. Lumi : America

(a) Only one
(b) Only two
(c) Only three
(d) All

Which statement is correct regarding

Rayana Barnawi, who was in the news

recently?

(a) Iranian human rights activist who was
awarded the Nobel Prize.

(b) Saudi Arabia's first female astronaut.

(c) Princess of Portugal who came on an
official visit to India.

(d) First Minister of

female Prime

61-

62-

ARAT HEAT 8, Fih Ig &g
T TR AL 6 o7 9071 2

2. AT & qeF Harm= g & Fgth
TPt FAr g, 3T ag qPafd *
TETE-TAT U &T0T FaT Bl

3. "fag § sar+ghr & arg [aEy
AAHI H TR GRT qA O
RgReaT & T aIE T 2

4. HTEgT™ | A= ST & Taedl &
srgar (Farfers,-Qreaforsh, wermata= a1
RIPENECHES G R TRI ]

S W fohae Fo 95l 5/a?

(a) F U=

(b) FaeT a1

OEEEKIG]

(d) Tt

fFefofag & @ AT @ |5t gafoa

e/2?

UIHHET =)
1. Thfeax ;T
2. T ;T
3. T : STHTCERT
4, T . STHTET
(a) e T
OEEEE
OEEEEIE
(d) 7rsfy
2 B H J=9T H W AT aeAEt &
Teer | I FHIT ol 72

C o\ C o o >
(a) T9 FT AEATIEFRTT FTHFAT STve

ATere TLERTT | FEATAT T T
(b) Tat X dI TgAT HigAT FqeT
Rl
(C) TAWTS T T(SHATLT ST ATXA &l
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Equatorial Guinea of Indian origin.

Which statement is not correct regarding

Sahitya Akademi Award?

(a) This award is given by Sahitya Akademi.

(b) The award is presented in 22 languages.
mentioned in the Eighth Schedule of the
Constitution.

(c) This award was given to Sanjeev for
Hindi language in the year 2023.

(d) The Sahitya Akademi Award for the year
2023 was awarded to Neelam Sharan
Gaur.

How many of the following South Indian
leaders were associated with Vaikom
Satyagraha?

1. T.K. Madhavan

2. Of. P. Keshav Menon

3. K Kelappan

4. Erode Venkatappa Ramaswamy

(a) Only one

(b) Only two

(c) Only three

(d) All

How many) of the following statements

is/are correct regarding Shipra River?

1.. The Shipra (Kshipra) River is a
tributary of the Chambal River in
Madhya Pradesh and flows through
the Malwa Plateau.

2. Khan and Gambhir are the main
tributaries of Shipra.

3. According to Hindu scriptures, Shipra

related to the Vaman

incarnation of Lord Vishnu.

river 1is

(a) Only one

63-
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STERTI AT I< 3TM<

(d) AT g AT Teriger [T &
Tt WigET Terre w3

TR AFRTEHT TLEHTT 6 GaH H HIF-97

FIT Tel el 87

(a) T TTERIT AT SFEHT 1T TG
T STt 21

(b) TE TERTT TTALTT 6T AT ATLA]
H FTorq 22 WTOTsH H.Ja&Te AT ST

2l

(c) a9 2023 § =l 9TOT * forw &St
T T TERTE ST T 1)

(d) I 2023 T AT AFHTEHT [LERTT
YR | 90T T T J&T
QRN

Fofofag gforor 9 Jarst & ¥

fohae IR TATIE & q7 a3 97

1. &%, e

2. . 9. a7

3. F Hercud

4

. s C LA {IHI(“QIH“I

(a) e T

(b) & 2

(c) FaS qI

(d) =rsfy

forom 7t % mvey # fwfofag & @

Forae wuT |8l 8/8?

1. form (fersm) €T wexr e § wad
T4 AT GEAE A4l g ST HTA4T ®
TSI § g JaTied grdl gl

2. G 4T T, T it i agrET
T 2

3. R Ieefi  sre@me T 7t =7 ey
AT TS % AT STade 9 g
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(b) Only two
(c) All
(d) None of these

Which statement is not correct regarding

G-20?

(a) It includes 19 countries, the European
Union (EU) and the African Union
(AU).

(b) It has no permanent secretariat.

(c) It was established in 2001 to discuss
global economic and financial issues
following the Asian financial crisis.

(d) The theme of the G-20 summit of the
year 2023 was ‘One Earth, One
Family, One Future’.

In the context of Indian economy, how
many of the following are included under
'Core Sector'?

1. Coal

2. Crude Oil
3. Natural Gas
4. Refinery Products
5. Fertilizer
6. Steel

7. Electricity

8. Nuclear Energy
(a) Only five

(b) Only six

(c) Only seven

(d) All

The Operation Prosperity Guardian is
associated with

(a) USA

(b) UNO
(c) G20
(d) G7
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(a) FATTH

(b) FaeT &I

(c) Tsfy

(d) =TH | FIE LT

ST-20 o Taer | HF-97 A9 Tol Tal 57

(a) T9H 19 Tor T w9 (EU)-3fT
shTeRT &9 (AU) orTforet 21

(b) THHT T TS ATHATAT A2l Bl

(c) ufdrmms fo=fwr &%z, F ae ataw
AT Ua i qE i 9% =1 L &
forw & 2001 § TEEHT FATIAT AT TE
off|

(d) T 2023 % St-20 TErEr #r ofi
T J2AT, U Iar, UF giasr of)

AT JATAFET & dad § Aefefaa § 9

e "I T F Feadia oS R ST

FIAAT
FGT A
. ST T
. e 3R

AT TTEUTET ot had avataq
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b) HF T HH
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(
(
(
(d) sft 7
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Which of the following are the objectives

of the ‘UAE Consensus' that was agreed in

COP 28?

1. To phase out fossil fuels.

2. To achieve net-zero emissions by
2070.

3. To renewable energy and
double energy efficiency by 2030.

Choose the correct codes:

(a) 1and 2

(b) 2 and 3

(c) 1and 3

(d)1,2and 3

triple

Coalition for High Ambition Multilevel
(CHAMP) Pledge,

sometimes seen in the news is related to

Partnerships

which of the following?

() A commitment taken by national
governments to work in partnership
with their subnational governments
for climate action.

(b) A commitment to promote National
Integration and Communal Harmony
among people of all religions,
languages and regions.

(c) A commitment .to accelerate India’s
reliance .on renewable energy to
power the economy and be effectively
fossil fuel-free by 2070.

(d) A commitment to reduce global

methane emissions from 2020 levels

by 2030 by 30%.

69-
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Hardt 28 & wgwfa =<6 i T YU

AW T F IgeT Aaferred § & i

qE?

1. SATe® 2U9 W AXOEE qh F
TETH HTAT|

2. 2070 TF ERI-LI IS (EHEA
AT

3. 2030 T TAHLONT FofT &l AT AT

ST ST T &l TRET HLATI
aE T A
(@) 13T 2
(b) 2 73
(c) 143
@)1, 2.3 3
TEYT R ge  UFAT  HAedaad
et (Hro=muedt)  wfasm, o
FA-FT g H I@T 9T g,
Aeforfaa o & e wataa g2

(a) TTATY FATE & [T TE TR

o [aY .
ST ATHT STUET AL F A1

TSGR § FTH LA il Tdagarl

(b) TAT er|T, FATATAT T ATk AN H
= I THEAT AR GiETEE
TGTd I TETAT & il TdaEarl

(C) ATTATAT T 9IT<F TET FA & 1T
AR FolT 9T AT i fAdwar
H TSIt A1 ST 2070 % TATET T
T ShaTew S99 Hq<F g it Tfdagdrl

(d) af*a HraIw IsT w1 2020 F FTT
T 2030 TF 30% TF FH FLA Al
EIGEE-GIL
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The term T+0 settlement, that has been
frequently in news ,is related to

(a) WTO

(b) IMF

(c) Share Market

(d) UNQ's peace clause

Consider the following statements with
respect to the MIRV Technology:

1. It enables one missile to carry multiple
nuclear warheads.

2. The United States was the first country
to develop MIRV technology.

3. The MIRV Technology is associated
with the Agni-IV Missile .

4. These missiles can only be launched
from land-based platforms .

Which of the statements given above
is/are correct?

(a)1 only

(b) 1 & 2 only

(©)1,2 & 4 only

(d) All the above

Consider the following statements with
respect to Elephant Corridor Report,
2023:

1. At present, there are totally 150
elephant corridors in India.

2. West Bengal has the most elephant
corridors in India.

3. The elephant corridor in revenue
lands and private lands are to be
notified under the Wild Life
(Protection) Act, 1972.

71-
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FHT GIU H @A ardr T+0 HeaHe
AeE e HaTad 872

(a) s =TI T

(b) STarEgTa Ha1 F1

(c) AT AT

(d) UNO T TF i Fie
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FAAT 9T FF=m +iL:

1. 7T TF FHETEe FF TCHT] 2R
o ST § Fe19 aATan gl

2. Y TS FHRET MIRV THATH

Ta=RIEd g ATAT TgaT <97 4TI

3. MIRV T&t® stV faamsa & =1
]

4, =z et #1 Fad qE-sraria
TASHIHT | BT Aol {1 ST Jhall 2|
I QU U FUAT H F w9 AT/ GEGH
e/E?

(a) Fae 1

(b) FaeT 1 UF 2

(c) FasT 1,2 U= 4

(d) urh Tt

geft e RO, 2023 % H@99 H
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UIERIES]
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How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All Three

(d) None of the above

Bletchley Declaration, that was in the

news recently, is related to-

(a) Biodiversity conservation of Amazon
forest

(b) Artificial Intelligence risks

(c) Climate Change

(d) Green energy

With regards to the Graphene-Aurora

Program, consider the following
statements:

1. The program aims to foster innovation
of graphene technologies.

2. The program is implemented by
Ministry of Mines.

3. India Innovation Centre Graphene
(IICG) is set under the program to boost
Research and Development in graphene.
How many of the statement(s) given
above is/are correct?

(a) Only one statement

(b) Only two statements

(c) All three statements

(d) None of the above statements

With reference to the Debt-for-Nature

Swaps, examine the following
statements:

1. They are financial transactions that
reduce a country’s debt in exchange for
environmental conservation.

2. The world’s first and largest debt

74-
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76-

S fU Tw et § F haw a8t 272
(@) Fa TF

(b) Faer &

(c) ot
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(b) Faet I FAA
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swap was signed by Ecuador.

Which of the following statement(s)
is/are correct?

(a) 1 only

(b) 2 only

(c)both 1 &2

(d) None

Consider the following:

The term “Global South”

emerged as a classification based on

Statement:
shared histories of colonization and
similar socioeconomic indicators.

Assertion: The Global South refers to
countries that have  experienced
imperialism and colonial rule, leading to
higher levels of poverty and income

inequality.

(a) Both the statement and the assertion
are true, and the assertion is a correct
explanation of the statement.

(b) Both the statement and the assertion
are true, but the assertion is not a

correct explanation of the statement.

(c) The statement is true, but the
assertion is false.
(d) The statement is false, but the

assertion is true.
Commission on Social Connection’ is an

initiative by which of the following

organisation?

(a) United Nations International
Children's Emergency Fund
(UNICEF)

(b) World Health Organisation (WHO)

(c) UN Department of Economic and
Social Affairs (UN DESA)

(d) UN High Commissioner for Refugees
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Rraforfar # & i 7 oy 280

3 e o=

FIT: "TAGA TSI 2Teq-IATHATRTOT
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FLAToG,  NRid AGTHIaE 3T
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(b) 9T ST TMAT AT 9 g, AThe aram
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(UNHRC)

Consider the following statements with
respect to State of the Cryosphere Report,
2023-

1. It released by the
Intergovernmental Panel on Climate
Change (IPCC).

2. According to the report, Himalayas
will be expected to lose 50% of its ice,
if global average temperatures touch
2°C.

3. Cryosphere comprises Earth’s frozen

‘was

water in ice sheets, sea ice,

permafrost, polar oceans, glaciers and
SNOW.

How many of the statements given above

are correct?

(a) Only one

(b) Only two

(©) All Three

(d) None of the above

Consider the following statements with

respect to Global Cooling Pledge

1. It commits countries to reduce their
cooling-related emissions by at least
68% compared to 2022 level by 2050.

2., The pledge includes a target to

establish a  minimum  energy

performance standards by 2030.
3. India was a signatory to this pledge.
How many of the statements given above
are correct?
(a) Only one
(b) Only two
(c) All Three
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(TUATHATHT)

FRERAT aTe, 2023 it fRafa & daer

# et Foet o = #+i-
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aae 2 =t gfeaaw % wgw
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(c) Tsfy =
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Sfaeas Far 2|

2. "Feq H 2030 T “IATH Fo1T TahT
T ST HA T AT ATHA Bl

3. WL TH Hhed T gearerdandl 9Tl

S fau Tw et § ° e 98t 82
() FereT TF

B-36, Sector-C, Aliganj, Lucknow Cont. Nos. 9415011892 / 8858209990

Page 29



81-

82-

83-

(d) None of the above

The Global Expert Review on Debt,
Nature and Climate, often seen in the
news recently, is an initiative by which of

the following countries?
1. Kenya

. Colombia

2

3. France
4. India
5

. Brazil
Choose the correct codes:
(a) 1,2and 3
(b) 3 and 4
(c) 2,3and 5
(d) 1,3 and 4

Which one of the following pairs is not

correctly matched?

(a) Emirates Declaration : COP.28.

(b) State of Climate Services Report,. 2023
: WMO

(c) Dairy Methane Alliance :18th G20
Leaders' Summit

(d) Santiago Network Draft=" : WHO

Which statement/s
regarding the State Disaster Response
Fund (SDRF) is/are not correct?

1. The SDRF was constituted under
Section 48 (1) (a) of the Disaster
Management Act, 2005.

2. It was constituted based on the
recommendations of the 14th Finance

of the following

Commission.
3. Lightening is not covered as a natural

81-
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83-

(c) Trsfy =

(d) =7 & S o 7

T, TR 3T AAATT IT qfaeh Taerast
THTEAT, o Fee g 2t § a9 o
@1 STar g, Fetorfaa § o e qer
T e &7
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(@) 1,2 T3

(b) 3 3T 4

(c) 2,3 3 5

(d) 1, 3 37 4

et & & #I19 |7 ST 981 qaford

SEE

(a) T AU qIEAT FT GEHAT
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(b) SeaTy AT Rafy R, 2023:
SeUHA

(c) LT HIAT UATHH: 184t S{120 FAaraAt
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disaster under SDRF.

2. TEET WA 149 B osmEmr

(a) 1 only )
(b) 2 only fRrTiernt = smerme g7 B T oam
(c) 1 &2 only 3. THSIHAUT & dgd arhref fasret =i
(d) 1 & 3 only ) ]
TTH(d® Il & &7 § Fa< qgl (04T
T 2
(a) FaT 1
(b) Faer 2
(c) FaA 1 3T 2
(d) Fa<T 1 3% 3
84- The Windsor Framework is related to- 84- e ua+ Froargefaq 272
(a) EU- UK
(b) EU-USA () - TF
(c) Russia- China (b) g-{_w
(d) USA- G 20
(c) &F- H19
(d) e Sft 20
85-  Geographical Indications (GI) product” “85-  «isifers dha (Sftamrs) Ieare "Trei o=
“Raja Mircha” is from which state?
(a) Andhra pradesh [EERUR KR
(b) Nagaland BEEEE
(c) Mizoram )
(d) Karnataka (b) ATTeAE
(c) farw
(d) FATF
86- With reference to Indian theatres, 86- g Ui ¥ @ed #, FAwfofag
consider the following pairs: . .
Theatrical form State Tt o o
1. Bhand Pather : Kashmir AT ©7 ST
2. Bhaona : Assam )
3. Bhavai : Uttar Pradesh 1. S TIY D FeHTT
Which of the pairs given above is/are 2. AT -
correctly matched?
() 1 and 3 only 3. 9qa% : ITL TR9T
(b) 2 only 9T fRU U FEE § ¥ Fi G ggt
(c) 1 and 2 only '
(d)1,2and3 AT 2/2?
(a) Fae 1 377 3
(b) et 2
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With reference to the 15th Finance

Commission, consider the following
statements:

1. The share of states in the central taxes
for the 2021-26 period is recommended
to be 41 per cent.

2. Forest cover was not the criteria for
devolution.

3. The 15th Finance Commission had not

recommended funds for wurban local

bodies.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

The “Wagner Group” often seen in the
news is related to:

(a) European Union

(b) Army of mercenaries

(c) NATO

(d) World Trade Organization

Consider the following statements

regarding  Indo-Gangetic-Brahmaputra
plains-

1. It is formed-of alluvial soil.

2. Tts width increases from west to east.
3./Average elevation is 400 m above mean
sea level.

Which of the above statement/s is/are
correct?

(a) Only 1

(b)2&3
(0)1&2
(d)1,2&3

87-
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89-

(c) FaeT 1 37 2

(d) 1,233
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(a) e U
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Which one of the following pairs is not
correctly matched ?

Disputed Territory = State/UT
a) The Depsang Plains : Ladakh

(
(b) Tashigang-Shipkila : HP
(
(

¢) Pulam Sumda : Uttarakhand
d) Barahoti : Arunachal
Pradesh

With respect to the China type climate
consider the following statements-

1. It receives rainfall under the influence
of South East Monsoon.

2. It has high

temperature.

annual range of
3. It is characterized by occurrence of
intense tropical cyclones.

Which of the above statement/s is/are
correct-

(a) 1 & 2 only

(b) 2 & 3 only

(c) 1 &3 only

(d)1,2&3

Despite the long duration of sunshine in
summers, the Polar regions have very low
temperature. Which of the following
is/are the reason/s for it?

1. Most of the time the Sun remains near
to horizon.

2. Much of the Sun rays are reflected by
the ground and snow.

(a) 1 only

(b) 2 only

(c) both 1 & 2

(d) none of the above

Which of the
components of Current Account Deficit
(CAD)?

1. Balance of Trade

following are the

90-

91-
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93-

Feferfea & & #9 |7 sireT 981 qaferd
Tl &7

Rafa e  Tsa/dw afaa y_ar
(a) TTEIT #=TH SEUC)
(b) arefriRT-forefy 7 ;. fRwT=er gaer
(C) T Tw=T AR

(d) aTETRIT - L e )
4 JPR BI Selar] b FedH o
FUFl R AR $IRT-

1. 981 3T 4 ANNA & gMTa 9§ a§t g
g

2. 3 UM, B aiffe W e B
g

3.7 SWhfead ahdrdl & gl gqd!
fareTear 2 |

IR & F HH—a1 /¥ BIT G818 /8 ?

(a) dadt 1 3R 2

(b) Tact 2 3iR 3

(c) @adt 1 3R 3

d)1,28&3

oaa § g0 @ @dl @y & §Eg,
g ea % 9gd W qoEH e g
fr=foriad & 9 g oRor @ & /87

1. st I g ffos & fee @@
&

2. g4 @ WEIR ol oE QiR 9% 9
TRTafd & S g |

() DI 1

(b) Baet 2

(c)1 3R 2 T

(d) SRR § BIg TaI

ffeiRad § & @ 9 ] @ 9rer
(Hfve) & Ted B?

1. AUR FJeTd
2. Jg DR I
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2. Net Factor Income
3. Net Transfer Payments
(a)1&2
(b)2&3
(c)1&3
(d)1,2&3

94- Which of the following are examples of
Invisible Exports & Imports?
1. Money spent on travel by tourists
2. Tuition paid to wuniversities by
international students
3. Banking, Insurance & consulting
services in foreign land
(a)1&2
(b)2&3
(c)1&3
(d)1,2&3

95- In India, monetary policy fails to bring
quick results because of-
1. Lack of many investment alternatives
2. Non-monetized economy
3. Lack of financial inclusion
4. Fiscal deficit
Which of the above are correct?
(a)1&4
(b)2&3
(c)2,3&4
(d)1,2,3&4

96- The Capital = Accounts Transactions
include-
1. The transactions which alter the assets
or = liabilities, including contingent
liabilities, outside India of persons
resident in India.
2. The transactions which alter assets and
liabilities in India of persons resident
outside India.
Which of the above statement/s is/are

correct-

95-

96-

3. ¢ CRIHR YT
(a)1&2
(b)2&3
(©)1&3
d)1,2&3

AL G DI BN | I R
feferRad & & o9 & €7

1. TiCHI gRT I W T [BA1 7 &

2. IR Al gRT fAwafdare™i @l
YA BT T8 ST

3. faceh 9f # dfem, 4w ok o
g |

@1&2

(b) 2°& 3

€)1 &3

(d)1,2&3

I IR H Aifge ifd @Rd gRom o H
fawer 27

1. 3 99 faaedl o1 3ME & R

2. IR—SIehal IR & BRI

3. fa<i o199 & oTd @& BRYT

4. SRR TS & HRY

SR H B9 A Tl 87

@l1l&4

(0)2 &3

(€)2,3&4

d)1,23&4

Uoll oRET ofFfed H wnfid B

1. 7 dFed o WRd & 918} 99 URGuRal
T SHSIRAT Pl gearar B, oW anaia®
TIAN AT 8, O 9RT H & arel ARpA
Pl B B

2. 9 oFed O WRG # S9 duRR @&iR
SGINAT B JgotaT § off Rd ¥ 9 I8
arel Al B B B |

SRR U9 § A DH-1/9 HAF el
g/ 87

() DI 1
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97-

98-

99-

a) 1 only
b) 2 only
c)both 1 &2

d) none of the above

~ o~ o~ o~

Consider the following statements with
respect to the
Facility (LAF) -

1. It is a monetary tool to control short-

Liquidity Adjustment

term money supply in economy.

2. It consists of repo and reverse-repo
transactions.

Which of the above statement/s is/are
correct-

(a) 1 only

(b) 2 only

(c)both 1 &2

(d) none of the above

Which

included

among the following is/are

in Net demand and time
bank (NDTL)

1. Current account and saving account

liabilities of

deposits

2. Fixed deposits cash certificates
3. Interest accrued on deposits and
unpaid dividend

4. Paid up capital, reserves and any credit
balance in the Profit & Loss Account of
the bank

Select the correct answer from following
options-

(a) 1 &2

(b)1 &4

()2 &4

d1,2&3

Consider the following statements-

1. Deflation is caused by a reduction in
the supply of money or credit.

2. In stagflation, there is a condition of

slow economic growth & relatively high

97-

98-

99-

(b) DIt 2
(c) T 1 3fR 2
(d) SIRIB H P15 TEI

Rl FARIIGH gfauT (TeQush) & ey o
frferRad doml W R Fifde—

1. U5 SRR H SeUHID ol AYfeh, B
R $% 1 o Hifed 3T B |

2. 39 1 iR Read—ar o e 2 |
SRR AT H A DH-AT/H B el
§/37

(a) DI 1

(b) Baa 2

(c) TF 173K 2

(d) SRD | BIg TEI

ffaled § 4 -9 /9 98 @ I
A AR I @ QIR (TEeIea) #
et § 7

1. 9T}, W1 UG §9d QT ST

2. A ST H Affhae

3. O 3R e oM W 3iffd @I

4. Y& Yull, ST IR 9% @ A SR g
iRk I

I fed T Apedl 9 F8l S @1 99
BHITT—

@l&2

(b)1&4

(c)2&4

d1,2&3

fferRad Bl W =R Bifo—

1, SULHINT BT HRON T AT D B MY
LTI

2. Yarwifcraata wd o, 4l Tfd F i
faera @ Rl oiR UaTTHd J2a RIS
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100-

unemployment.

Which of the above statement/s is/are
correct?

(a) 1 only

(b) 2 only

(c)both 1 & 2

(d) none of the above

The Enforcement Directorate’s (ED) has
been mainly authorised to enforce the
provisions of which of the following
special fiscal laws?

1. Payment and Settlement Systems Act,
2007.

2. Chit Funds Act,1982.

3. Foreign Exchange Management Act of
1999 (FEMA).

4. Prevention of Money Laundering Act
of 2002 (PMLA).

(a) 1 only

(b) 1 & 4 only

(c) 3 & 4 only

(d) 2,3 & 4 only

dedededek

100-

faemM <& £ |

IWRID & F HF—a1 /¥ BT 981 & /8 ?
(@) 1 dad

(b) 2 T

(c) I 1 3R 2

(d) SRI® & ¥ Big T

Taad e (321) w g w9
Fafofea & & e @ow B s e
& TTELTET &l AN Hi, % (o0 STfeeha
[ERIRIE i

1. ST % e sorert srfarfaa,
2007 |

2. e Feartataay, 1982

3. et #or waew stfafa=w 1999
() |

4. g ergw FEmor afafaaa 2002
(freauer) |

a) Fae 1

b) Fae 1 3T 4

c) Faer 3 3T 4

(
(
(
(d) %= 2, 3 ST 4
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